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There are others who — %13 12050 %75 R KDT [0 29 MK ART NOON
say that 0oy 21 said, ‘that he did not tell them, ‘sit, etc.”’

OVERVIEW

7717 27 ruled that we do not enforce a hidden gift (Xn7°nv Xninn). There are two
versions (in the name of 701" 27) what is a Xn7 v Xnina. The first version is that the
grantor told the 2*7¥, ‘go and hide and write him a 71n» qww’. The second version
(according to our X07%) is that he did not tell the 2°7v, ‘sit in the marketplace and
in the street (where everyone can see) and write it’. The X713 explained that the
difference between these two opinions is where he merely told them to write it
(and did not say hide, etc. but he also did not say sit in the P12, etc.)'

mooIn asks:
— ’m:mv: 1",75111 NP2 RN 1122322 INMD P¥aAP INND PHYY 19%24Y NYP XD TN

The 59 has a difficulty with this X09°3; why does the X3 ask, ‘what is the
difference between the two interpretations of >"7’; it is explicitly clear that they
argue in a case of Xnno where he told the o>7¥ (nothing) just to write the 03 —

mooin asks an additional question:
— NANDA )PUNT RN *19PY 1999097 1)

And furthermore the X713 rules later that we are concerned for a 77°10 710 in

a case of R»N® (which we understand to mean that he only told them to write), that by ono it is
not a valid mnn -
— Nf»92 4",71\’)2 1295 YN0 IIN 1INT 1999 NNINN NI 12%2M 591 15 ON)

So if indeed this is so that X»no2 it is not a valid 171n7%, how do we enforce all
min» (nowadays) since the custom nowadays is that he does not tell the 2>y
write it XN921 522, but rather only X200, so it should not be a valid 7an».

moon answers the latter difficulty:
— NINN S90YA 21NV NNY DINNNY 295 *1191)

' According to the first opinion that a 77°mv 73nn is where he told them to hide, it will be w3 by ano; according to
the »7nRT XX that for a 7107 to be valid he needs to tell the 07V sit in the P12, it will be considered a 77ab 7inn by
ano.
% Mmoo argues that the difference between the two Mw? is so obvious that we cannot understand the question.
I RN7.
* The 1271 N3 amends this to read Xn»921 *pwa.
* The 127 mMAx7 amends this to read *5% Y @™ ¥Pm.
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However, one can say; according to the custom nowadays to write in the text

of mann s uw -
— N932 71NN XPIYA 71N 1T NINN 1Y 9IN)
‘And the grantor told us (the witnesses), “write this 571n% 70Y in the P and sign

it in the streets’’,

— Y0V DXAMIY 19D 9197 INYT NHPND ) 11D 9N 5 799N
Therefore even if the grantor actually told the 2%y to write it N»no, his
intention was to tell them that they should write in in the manner it is written in

the 71071 VW, namely 801221 57w3; this is nowadays -
— 79 29055 0N N XY DINIININD 12929

However in the days of the 2°8712R it was not customary to write in the notes
'R922 MRNm X2 mand' -
— 999 NPIVA 1N V11993 DNY MY P98 1PN TaY

Therefore it was necessary (then) to tell the 0°7v explicitly, ‘NP2 1an>’, etc.’

mooIn offers an alternate X073
— N9 NPIVA NN KXY IND 9987 ©29) HNIN 1229

And the X093 of the 1''" is that the >71XT X2°X maintain that a 77°1Y 7101 1s where

he told the 27V do not sit in an outside market when you write the 7ann 70w (but he
did not tell them to hide) -
— D999 XYY 99IN) 18 PRVNY DY 9IIN 1IRY RAND 1P 399

And when the X3 says (3712 X2°X) ¥nno it is referring to this case where he

does not tell them to hide but he tells them not to publicize it -
— *03"01 N9 DD XY 1195 "NAND 1990

And X»no means [that he did not specify], neither that they should publicize it

(which would be valid according to everyone), nor that they should hide (which would

void the 71n» 7WW according to everyone), rather he told them not to publicize it -
— HNIIN 19939 WIPaY *9wa) XNV 25UN XY 1209 YaN

However if he told the 27V only 1232 (and did not add Xpw2) that is not

% moown (answered the second question regarding the 79%:1, however he) did not answer the first question how come
the X773 asks 177™1°2 °Kn, when it is obvious that they argue by Xnno.
" The n"27 man amends this to read a8 7307 X 01079 XY w%E K97 XANO.
8 According to the first 7> (that if he tells them to hide it is a 77" 7InR) in this case it is W (since he did not tell
them to hide) according to the 7" (that if he tells them X712 Xp1w3a 120N K2 it is 109) in this case it is (also) 2109 since
he told them 00197 X7w. See ‘Thinking it over’.
o According to the n"1 "o that which the 7" stated that if he tells the 0>7v do not write it \21 Xpw3, it is 9109, does
not mean that he is required to tell them Xw2a 121n3; rather even if he told them 12102 alone it is w3, however if he
told them not to be 00797 then it will be 7109 according to the 7"x.
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considered x»no and it is 2w according to "7 wyp."’
— N33 19N XPIYA 712N 1T NINN HMHIVWA 2INIY NIV NN n‘[b’ﬁb?

And according to this w170 that plain 12102 is W (even without Xpw32), that
which was instituted to write in nyuw that this 7an%, you should write it Xpya

and sign it X923, is not really necessary, for it is w3 in all instances as long as he did not tell
them not to be 0d1o»; the reason it is written in the 7107 W -
— RIOYT RIDIVT NON 1N

Is only for the ‘beauty’ of the =ww; (it is merely an elegant expression showing that he is
gladly and openly granting this gift).

mooIn is reluctant to accept the 1" "o:
$997 ¥NIYN RY RNNDT NIYIY 1179109

However the expression of X»no does not indicate this which the 1" claims, namely,
that he told them not to be 0075» but he did not tell them to hide; rather X2nd means he only told
them to write and nothing else.

SUMMARY

According to our X07°) the term Xnno refers to where he merely told the witnesses
12102, However according to 117 "o it means when he told them not to be 0079n
(but not to hide), however ano 12103 is ¥"123% Ww>.

THINKING IT OVER

Seemingly according to the 1" there still remains NMd0IN original question, why
does the X3 ask 17°°1°2 °Xn when it is evident that they argue in a case where (he
did not tell them to hide, but rather) he told them not to publicize it?'*

19 According to the " there is a w170 in the answer of the X3 that the difference is by X2no, since X»no means not
to publicize and not to hide, however and 1213 is ¥"3% w>.
" The n"21 nia amends this to read 77 71 999 (instead of i 72°99).
2 See footnote # 8 and »"m11 70 MX 7"210.
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